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<ïçjŠ¹]<Víß‰<nÖ^m<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ëçÞ^m<í<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ì‚{{{¹]<V3<l^{{{{Â^{{{‰< <
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< <

<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]VVVV< << << << <
    érŠÒù]<ð^¹]<ÔÓËjÖ<íéÛr£]<íÂ†ŠÖ]<Œ…‚Þ�2 2( )H O  e<‚è‚£]<�…]ç�<î×Â<ëçj¬<Ùç×¦<çâ<æ<¼é‰æ<�çqçшH<

<íéÖ^jÖ]<íÖ�^Ã¹^e<Ø‘^£]<êñ^éÛéÓÖ]<ÙçvjÖ]<t„ÛßÞ<V<<<<<<<<<<<<<<<<<<<<<2 2( ) 2 ( ) 2( )2 2aq l gH O H O O= +<J< <
1<I <°jéñ^ßnÖ]<�‚u( / Re )Ox d  <<ØÂ^ËjÖ]<»<°j×}]‚Ö]J 

2<I ©<ØÂ^ËjÖ]<]„â<…çŞi<í‰]…‚Ö–<^Ûru<†0 10V mL=<<êÖç¹]<åˆéÒ†i<ë…^rjÖ]<�érŠÒù]<ð^¹]<àÚC<<H<†�ée<»
<^Ûru<íÊ^•de<å�‚´1 88V mL=<<í¿v×Ö]<‚ßÂ<H<†ŞÏ¹]<ð^¹]<àÚ0 mint =Þ<^Ûru<^�<Ìé–2 2V mL=<<¼é‰çÖ]<àÚJ 

_<I  <e°<çâ<sèˆ¹]<»<�érŠÒù]<ð^Û×Ö<êñ]‚jeý]<êÖç¹]<ˆéÒ�Ö]<á_<<V[ ]2 2 0 10

C
H O =<J 

h<I  <ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q<ó�Þ_J 

l<I  <�érŠÒù]<ð^Û×Ö<êÖç¹]<ˆéÒ�Ö]<ì…^fÂ<gjÒ_[ ]2 2H O<<<íÖ÷‚e<ØÂ^ËjÖ]<Ùø}<sèˆ¹]<»[ ]2 2 0
H O<<Üru<H

<sèˆ¹]TV<<ØÂ^ËjÖ]<Ý‚Ïi<æx<J 

3<I <^ãÛru<sèˆ¹]<àÚ<l^ßéÂ<íË×j§<íßÚ‡_<»<„}`Þ<H<àÚˆÖ]<íÖ÷‚e<�érŠÒ÷]<ð^¹]<ˆéÒ†i<íÃe^j¹' 10V mL=<<^â��Þ
‰^içfÖ]<l^ßÇßÚ†e<Ùç×v²<^â†è^ÃÞ<æ<‚é×¢]<æ<�…^fÖ]<ð^¹^e<ì†�^fÚ<Ýçé( )( ) 4( )aq aqK MnO+ −+<<êÖç¹]<åˆéÒ†i<˜Û�]

2

3 2 10 /C mol L−= ×<<î×Â<Ø’vßÊ<Ýçé‰^içfÖ]<l^ßÇßÚ†e<Ùç×�<êrŠËßfÖ]<áç×Ö]<…]†Ïj‰ý<Ý‡øÖ]<Ür£]<ØrŠÞ<æ
<êÖ^jÖ]<l^‰^éÏÖ]<Ùæ‚qV 

60< <45< <30< <20< <10< <0< <(min)t< <
1,0 1,6< <3,1< <5,2< <9,0< <18,0< <3( )V mL< <

< << << << << << <[ ]2 2 ( . / )H O mmol L< <
_<I  <¹^Ú<l^ßéÃÖ]<��i<]ƒf<[<sèˆ¹]<àÂ<^ã×’Ê<‚Ãe<ì†�^ 

h<I  <êâ<ØÂ^ËjÖ]<»<°j×}]‚Ö]<°jéñ^ßnÖ]<ï‚uc<á_<^Û×Â<V2

4( ) ( )( / )aq aqMnO Mn− +< 

I íÖ�^ÃÚ<Üm<H<Å^q…ý]<æ<ì‚ŠÒúÖ<°jéÞæ�ÓÖý]<°jéË’ßÖ]<°jÖ�^Ã¹]<gjÒ_<<ì†è^Ã¹]<ØÂ^ËiJ 

l<I  <íéÖ^jÖ]<íÎøÃÖ^e<îŞÃè<öÊ^ÓjÖ]<íŞÏÞ<‚ßÂ<íßéÃÖ]<»<�érŠÒù]<ð^Û×Ö<êÖç¹]<ˆéÒ�Ö]<á_<°eV 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<[ ] 3 3
2 2
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2 '

C V
H O

V
=<J< <

p<I  <êÖç¹]<ˆéÒ�Ö]<sjßj‰c<æ<Ðe^ŠÖ]<Ùæ‚¢]<ØÛÒ_C<Ö]<�érŠÒù]<ð^Û×Ö<ë…^rjJ 

t<I  <á^éfÖ]<ë�Ûé×éÚ<Ñ…æ<î×Â<Ü‰…_[ ]2 2 ( )H O f t=<<Ü‰…<Ü×‰<Ù^ÛÃj‰^eH<g‰^ßÚ<<Üm<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<Í†Â
<^éÞ^ée<å�‚uJ 

|<I  <ì…^fÂ<¼Â_<<<íÖ÷‚e<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ][ ]2 2H O<<»<í¿v×Ö]<»<^ãjÛéÎ<gŠu_<æ20 mint =<J 

� <‚éÃÞ<^Ûru<Ù^ÛÃj‰^e<íÏe^ŠÖ]<íe†rjÖ]2 5V ml=<<îßvß¹]<Ü×Ã¹]<‹ËÞ<»<^éËéÒ<Ü‰…_<H<¼é‰çÖ]<àÚ
[ ]2 2 ( )H O g t=J 

  

  

  

  

  

  

  

<íéñ^èˆéËÖ]<Ýç×ÃÖ]<ì�^Ú<»<Ùæù]<<êmønÖ]<…^fj}] 
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P(kpa) 
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<êÞ^nÖ]<àè†ÛjÖ]<êÞ^nÖ]<àè†ÛjÖ]<êÞ^nÖ]<àè†ÛjÖ]<êÞ^nÖ]<àè†ÛjÖ]VVVV 
<<<<<<^ãjÃ‰<ì…æ…^Î<»<Ø}‚Þ1,4V L=<<^Ûru<ð]ç�]<àÚ<íÆ†ËÚ50V mL=<ÚÔèçÞ^nèý]<˜·<Ùç×¦<à<3 ( )aqCH COOH<

<êÖç¹]<åˆéÒ†i11,0 .C mol L−=<<æ1,26m g=<<Ýçè�ç’Ö]<l^Þçe†Òçßéqæ…‚éâ<àÚ3NaHCOH<æ…^ÏÖ]<Ð×Çe<ÝçÏÞ<æ<ì…
<Œ^éÏÖ<‡^ãœ<ì†�^fÚ<^ãŞe…<ØÂ^ËjÖ]<Ùø}<Ð×Şß¹]<‡^ÇÖ]<¼Ç•J< <

<�jÃÞ<íéÖ^jÖ]<íÖ�^Ã¹^e<t„Ûßè<^Ú^i<÷ç�<Ýçè�ç’Ö]<l^Þçe†Òçßéqæ…‚éâ<ÄÚ<ÔèçÞ^nèù]<˜·<ØÂ^ËiV< <

3 ( ) 3( ) 3 ( ) 2( ) 2 ( )aq aq aq g lCH COOH HCO CH COO CO H O− −− + = − + +< <
<í¿£<ØÒ<Ùø}<Ð×Şß¹]<‡^ÇÖ]<¼Ç•<ÜéÎ<ØérŠje<ÔÖƒ<æ<ÙçvjÖ]<]„â<Äe^jÞt<<íq…‚Ö]<‚ßÂ25 cθ = °<Ø’vßÊ<<î×Â

<êÖ^jÖ]<îßvß¹]V< <
1<I <løÂ^ËjÛ×Ö<íéñ]‚jeý]<ì�^¹]<íéÛÒ<�‚uJ 

2<I ]ƒ^¹<H<ØÂ^ËjÖ]<]„â<Ìß‘J 

3<I <Ùø}<àÚØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q<<‚qæ_V 

_<I  <æ<H<‚�]<ØÂ^Ëj¹]<êÛ¿Âù]<Ý‚ÏjÖ]J 

h<I  <‚éŠÒ_<êñ^ßnÖ<íè†¿ßÖ]<ì�^¹]<íéÛÒ
<íéñ^ãßÖ]<íÖ^£]<»<áçe†ÓÖ]J 

4<I <…^fjÂc<àÓµ<Øâ<á^éfÖ]<î×Â<�^ÛjÂý^e
Ö]<í¿v×400t s=<<Ø×Â<[<ØÂ^ËjÖ]<íè^ãÞ<í¿£J 

 

5<I ØÂ^ËjÖ]<íÂ†‰<ì…^fÂ<á_<°e<Œæ…‚¹]<<êÖ^jÖ]<ØÓ�Ö]<î×Â<^ãje^jÒ<àÓµ<VdP
v A

dt
= ×<<oéu<HA<<g×Şè<ke^m

<í¿v×Ö]<‚ßÂ<ØÂ^ËjÖ]<íÂ†‰<gŠu_<H<äi‚uæ<æ<äjÛéÎ<°éÃi100t s=<J 

6<I Û¹]<îßvß¹]<ØÓ�<áçÓé‰<ÌéÒ<°jÖ^£]<»<àÚˆÖ]<íÖ÷‚e<¼Ç–×Ö<Øn1' 2,0 .C mol L−=<<æ1'' 0,5 .C mol L−=<H
<ì…]†£]<íq…�<îÏfi<æ25 cθ = °<<H1,26m g=<<æ50V mL=<J 

<îŞÃè<V
3( ) 84 /NaHCOM g mol=< <

<<<<<<<<<<<<<<<<<<1 18,314 . .R J mol K− −=< <
^nÖ]<àè†ÛjÖ]^nÖ]<àè†ÛjÖ]^nÖ]<àè†ÛjÖ]^nÖ]<àè†ÛjÖ]oÖoÖoÖoÖ<<<<VVVV 

<<<<<<<<”^‘†Ö]<ì]çÞ<±c<Ùçvji<æ<H<^éÂ^Ã�c<íŞé�Þ<ÝçéÞ]…çéÖ]<ì]çÞ<ác206<<l^ÓÓËjÖ]<àÚ<í×Š×‰<íŞ‰]çe<ì†ÏjŠ¹]
‚è†Þ<H<íéÖ^jj¹]<í‰]…�<<p^ÃfÞý]<…^fjÂý]<°Ãe<„}ù]<áæ�<…çŞjÖ]<]„âγJ< <

÷æ_÷æ_÷æ_÷æ_<<V<ÝçéÞ]…çè<í×ñ^ÃÖ]<í‰]…�<ÝçéÞ]…çè<í×ñ^ÃÖ]<í‰]…�<ÝçéÞ]…çè<í×ñ^ÃÖ]<í‰]…�<ÝçéÞ]…çè<í×ñ^ÃÖ]<í‰]…�238<<<<–<<<<<”^‘…<”^‘…<”^‘…<”^‘…206<J< <
1<I <»¹]<í×u†ù]<ÝçéÞ]…çéÖ]<ì]çÞ<Ä–¡<±æ238

92 U<<êÂ^Ã�ý]<ÔÓËj×Öα<Ýçè…çnÖ]<kßfÖ]<ì]çßÖ]<sjßi<æ( )Th<J 

_<I  �¹]<ì]çßÖ]<êâ^Ú[<íÃ 

h<I  <íÃfj¹]<‚Â]çÏÖ]<†Òƒ<ÄÚ<p�^£]<ëæçßÖ]<ØÂ^ËjÖ]<íÖ�^ÃÚ<gjÒ_<^ãje^jÒ<»J 

2<I <»¹]<í×u†Ö]<ÝçéßjÒ^iæ�Ö]<ì]çÞ<±c<Ýçè…çnÖ]<ì]çÞ<Ùçvji<íéÞ^n234

91 Pa<J 

I <ÙçvjÖ]<]„â<»<êÂ^Ã�ý]<½^�ßÖ]<ÅçÞ<]�‚¦<ÔÓËjÖ]<íÖ�^ÃÚ<gjÒ_J 

3<I Þ<ÙçvjÖ<íéÖ^¶ý]<íÖ�^Ã¹]<ác<ÝçéÞ]…çéÖ]<ì]ç238<<”^‘†Ö]<ì]çÞ<±c206<ØÓ�Ö]<àÚV238 206 0 4

92 82 1 2U Pb x e y He−→ + +< 

I <àè�‚ÃÖ]<†è�jÖ]<ÄÚ<°Âx<<æy<<í×‘^£]<íéÂ^Ã�ý]<l^ÓÓËj×ÖJ 

^éÞ^m^éÞ^m^éÞ^m^éÞ^mVVVV<<š…ù]<†ÛÂ<‚è‚�<š…ù]<†ÛÂ<‚è‚�<š…ù]<†ÛÂ<‚è‚�<š…ù]<†ÛÂ<‚è‚�terret<J< <
1<I ŞÂ_k<‘<àÚ<íßéÂ<í‰]…�<�‚Ã×Ö<êÂ^Ã�ý]<“Î^ßjÖ]<îßvßÚ<íµ‚Î<…ç~( )UN t<ÝçéÞ]…çéÖ]<íèçÞù238<<^ãéÊ<ì‚q]çj¹]

<E<íÏémçÖ]<†¿Þ_2<J<D 

_<I  <íéñ]‚jeý]<íéÛÓÖ]<�‚u(0)UN<<ÝçéÞ]…çéÖ]<íèçÞùJ 

h<I  <àÚˆÖ]<ke^m<íÛéÎ<^éÞ^ée<‚qæ_( )τ<çéÞ]…çé×Ö<Ý238<<E<íÏémçÖ]<î×Â<ÔÖƒ<ØnÚ2<D<½^�ßÖ]<ke^m<íÛéÎ<sjßj‰c<æ<H
<êÂ^Ã�ý]λ<J 

l<I  <ì…^fÂ<¼Â_( )UN t<E<í¿v×Ö]<‚ßÂ<^éÂ^Ã�c<íŞé�ßÖ]<íèçÞù]<�‚Ât<<D<íÖ÷‚e(0)UN<íèçÞ_<�‚Â<gŠu_<æ<H
]<ÝçéÞ]…çéÖ238<<í¿v×Ö]<‚ßÂ<íéÏfj¹]9

1 1,5.10t années=<<^éÞ^ée<ÔÖƒ<àÚ<ÐÏ�<Üm<HJ 



p<I  <†ÛÃÖ]<Ì’Þ<àÚ‡<‚qæ_1

2

t<<ÝçéÞ]…çé×Ö238<<<îßvß¹]<î×Â<å�‚u<æ<E<íÏémçÖ]2<J<D 

2<I <íéÖ^£]<í¿v×Ö]<‚ßÂ<ì†~’Ö]<»<í‰^Ï¹]<”^‘†Ö]<íéÛÒ<ácterret<<êâ( )Pb terreN t<<ëæ^Ši<æ122,5.10<<ì…ƒJ 

_<I  <àÚ<ØÒ<°e<¼e†i<�Ö]<íÎøÃÖ]<gjÒ_<V( )U terreN t<<<æ(0)UN<<æ( )Pb terreN t<J 

h<I  <íéÛÓÖ]<gŠu_( )U terreN tÝçéÞ]…çéÖ]<íèçÞù<J 

l<I  <š…ù]<†ÛÂ<°Âterret<J 

< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
 

Äe]†Ö]<àè†ÛjÖ]Äe]†Ö]<àè†ÛjÖ]Äe]†Ö]<àè†ÛjÖ]Äe]†Ö]<àè†ÛjÖ]<<<<VVVV 
<<<<<<ØÛÂ<àÂ<Ì�Ó×Ö<gŞÖ]<»_<^â…‚Î<í×jÒ<˜è†¹]<îÏ×jè<íéÎ…‚Ö]<ì‚ÇÖ]<ØÓ�<æ0 1m gµ=<<�¿ßÖ]<àÚ131

53 I<J< <
l^éŞÃ¹]<<V131 23

53( ) 131 / , 6,02 10AM I g mol N mol−= = ×<J< <
1<I Â_<�¿ßÖ]<ì]çÞ<géÒ†i<¼131

53 I<J 

2<I <íéñ]‚jeý]<íèçÞù]<�‚Â<gŠu_0N<<í¿v×Ö]<‚ßÂ0t =<<�çé×Ö<˜è†¹]<êÏ×i<í¿£<H131

53 I<J 

3<I <�¿ßÖ]131

53 I<<l^ÛéŠq<…‚’è<æ<Ä�Úβ −<J 

I <ì…^nÚ<kŠéÖ<íŸ^ßÖ]<ì]çßÖ]<á_<^Û×Â<ÔÓËjÖ]<]„â<íÖ�^ÃÚ<gjÒ_<J 

<êÖ^jÖ]<Ùæ‚¢]<îŞÃèV<< <
4<I <�¿ß×Ö<†ÛÃÖ]<Ì’Þ<àÚ‡131

53 I<<çâ8 jours<J 

_<I  Â�<íÖ÷‚e<0N<<Å^Ã�ý]<ke^m<æλ<<êÂ^Ã�ý]<“Î^ßjÖ]<áçÞ^Î<àÂJ 

h<I  <†ÛÃÖ]<Ì’Þ<àÚ‡<Í†Â1

2

t<<Å^Ã�ý]<ke^ne<äŞe†i<�Ö]<íÎøÃÖ]<sjßj‰c<Üm<Hλ<J 

l<I  gŠu_<<íÖ÷‚e<íßéÃÖ]<»<íéÏfj¹]<íÃ�¹]<íèçÞù]<�‚Â0N<<íéÖ^jÖ]<íßÚ‡ù]<‚ßÂV1 1 1

2 2 2

3 , 2 ,t t t<<H<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

<êÂ^Ã�ý]<“Î^ßj×Ö<êÞ^éfÖ]<îßvß¹]<Ü‰…_<ÜmJ 

p<I  <êÂ^Ã�ý]<½^�ßÖ]<á_<êÂ^Ã�ý]<“Î^ßjÖ]<áçÞ^Î<àÚ<°e( )A t<<í¿v×Ö]<»t<<íèçÞù]<�‚Â<ÄÚ<g‰^ßjè<<<<<<<<<<<<<<<<<<<<
<íÃ�¹]( )N t<J 

t<I  <êÂ^Ã�ý]<½^�ßÖ]<íÛéÎ<gŠu_0A<í¿v×Ö]<‚ßÂ0t =<<íßéÃ×Ö<˜è†¹]<êÏ×i<í¿£J 

|<I  u_<‚Ãe<êÂ^Ã�ý]<½^�ßÖ]<gŠ4h<<íßéÃ×Ö<˜è†¹]<êÏ×i<àÚJ 

�<<I  <‚Ãe<êÂ^Ã�ý]<½^�ßÖ]<»<êŠßÖ]<�ÇjÖ]<íÛéÎ<gŠu_4h<J 

 
< <

< <
 

 
                                                                    <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ÐéÊçjÖ^e< <

íèçÞù]< <
55Cs< <54 Xe< <52Te< <51Sb< <
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<<ƒ^j‰÷]Vê{{{ÓÚ<ífjÂ< <

(2x0,25) 

(2x0,25)

(0,25) 

(2x0,25) 

(0,25) 

(2x0,25)
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î×Ê‚Ö]<°Â<íè÷çÖ<íée�Ö]<íè†è‚Ú< <

<Ùç×q<êÞ^Ûé×‰<íèçÞ^m–<<íj�^iI<<<<<<<<<<<<<<<<<<<<<<<<<<<<<íé‰]…‚Ö]<íßŠÖ]<V2012K2013<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ïçjŠ¹]<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<ëçÞ^m<ínÖ^m<íß‰
< <
< <

<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]<Ùæù]<àè†ÛjÖ]VVVV<E06<íŞÏÞD< << << << <
1<I <°jéñ^ßnÖ]  ( / Re )OX d : 

               
2 2 2 2 2 2

2 2 2 2 2

2 2 2 ( / )

2 2 2 ( / )

H O H e H O H O H O

H O O H e O H O

+ −

+ −

+ + →

→ + +
  

2<I _I<<{{Ö<êñ]‚jeý]<êÖç¹]<ˆéÒ�Ö]<ì…^fÂ2 2( )H O<sèˆ¹]<»<<V[ ] 0 2 2 0
2 2 0

0 1 2

( )

10T

n H O CV C
H O

V V V V
= = =

+ +
 

hI<<<ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚qV< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<[ ]0 2 2 2 2 0

( ) Tn H O H O V= ×<<<<<<<< <

22H O<<+<2O<<=<<2 22H O<<< <^ÃÚ�ØÂ^ËjÖ]<íÖ< <
Ùç{{{{{{{{¹^{{{{{{e<ì�^¹]<íéÛÒ< <Ý‚ÏjÖ]< <Û¢]<íÖ^uí×< <

ì�^èˆÖ^e< <0< <0 2 2( )n H O< <0X =< <íéñ]‚jec<íÖ^£]< <
ì�^èˆÖ^e< <X< <0 2 2( ) 2n H O X−< <X< <íéÖ^ÏjÞý]<íÖ^£]< <
ì�^èˆÖ^e< <

fX< <0 2 2( ) 2 fn H O X−< <fX< <íéñ^ãßÖ]<íÖ^£]< <
<<<<<<<<<<<<<l<I<<<ì…^fÂ[ ]2 2H O<<í¿v×Ö]<»t<V< <

<<<<<<<<<<<<<<<<<<<<<[ ]2 2 2 2 0
( ) 2Tn H O H O V X= × −<<<<äßÚ<æ<<<<V[ ] [ ]2 2 2 2 0

. 2T TH O V H O V X= × −<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

<<<<]ƒc<<<<<<<<<V[ ] [ ]2 2 2 2 0
2

T

X
H O H O

V
= −<< <

3<I <<_–<ˆ¹]<àÂ<^ã×’Ê<‚Ãe<ì†�^fÚ<l^ßéÃÖ]<��i<íÏéÎ�<ì†è^ÃÚ<ð]†qc<æ<ØÂ^ËjÖ]<Í^Ïèý<sèJ 

<<<<<<hI<<<ì†è^Ã¹]<ØÂ^Ëi<íÖ�^ÃÚ<V< <
<<ì‚ŠÒúÖ<íéË’ßÖ]<íÖ�^Ã¹]<<<<<V2

4 22( 8 5 4 )MnO H e Mn H O− + − ++ + → +< <
<<<<<<<<Å^q…þÖ<íéË’ßÖ]<íÖ�^Ã¹]<<<<V<<2 2 25( 2 2 )H O O H e+ −→ + +< <
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